D11000687 S2100028
Current noise through coil caluclated by dividing output monitor voltage noise by 2436.00hms.
W2 was shorted. P4 not shorted so inputs were grounded.
Run mode was activated by shorting header P3.
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— Instrument Noise Input 1
—— Instrument Noise Input 2
—— CHz1 AcqSP
---- CH1 RunSP
—— CH2 AcqSP
---- CH2 RunSP
—— CH3 AcqSP
---- CH3 RunSP
—— CH4g AcqSP
---- CH4 RunSP

Noise at Output Monitor [Vrms/V HZ]
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D11000687 S2100028 CH1 Coil Current Noise
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Current Noise through Coil [A,ns/VHZ]
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— Instrument Noise Input 1
Zero model in Run mode
——— Zero model in Acq mode

—— CH1 AcqSP Now

---- CH1 AcqSP Before

—— CH1 RunSP Now

TTTN ---- CH1 RunSP Before
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Current Noise through Coil [A,ns/VHZ]
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D11000687 S2100028 CH2 Coil Current Noise

— Instrument Noise Input 2
Zero model in Run mode
—— Zero model in Acq mode
\ —— CH2 ACqSP Now
---- CH2 AcqSP Before
N\ —— CH2 RunSP Now
A RN ---- CH2 RunSP Before
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Current Noise through Coil [A,ns/VHZ]
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D11000687 S2100028 CH3 Coil Current Noise

— Instrument Noise Input 1
Zero model in Run mode
——— Zero model in Acq mode

—— CH3 AcqSP Now

---- CH3 AcqSP Before

—— CH3 RunSP Now

---- CH3 RunSP Before
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Current Noise through Coil [A,ns/VHZ]
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D11000687 S2100028 CH4 Coil Current Noise

— Instrument Noise Input 2
Zero model in Run mode
—— Zero model in Acq mode
—— CH4 AcqSP Now

---- CH4 AcqSP Before

—— CH4 RunSP Now

---- CH4 RunSP Before
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